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Unit 2 Day 3: How Likely is....

Date: Hr:
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Question: How do | answer the toughest ACT questions?

A. The ACT Trick:

e . . ;
fr(:] Plan a new amusement park, a team of coaster designers asked riders if they preferred wood or steel
me roller coasters. The table shows the preferences of the kids and adults surveyed.

Prefer Wooden Frame Prefer Steel Frame =
Kids 45 60 08
Adults 15 20 35

Lo 3o

1. Based on the survey data would you agree or disagree with the following statement:
Kid®are three times more ._likelx to prefer a steéelfframe roller cpaster than an dults
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2. What‘fl’ﬁ)rmation is missing from the table that could change your opinion of the statement? Add that
information. T‘,h\s
3. What percent bfjkids prefér steel frame coasters?
51T
4. What percent 6f adults prefer steel frame coasters?
e 5 2.
5. Are kids more likely than adults to prefer steel frame coasters? /LJ b
6. The ACT will put numbers that meet the "times” part of the statement and bet that you do not pay
attention to the word f o . But you will not be fooled! If you read the word
//"k&{ld you will?ind the wt (or relative frequency).
B. Practice
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1) True or False:ABBJs are 4 times as liKeljtas BiflSto like 2 e o]
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® 2) True or False: A boy is equally as likely to prefer vanilla as a girl. Explain.

m. Explain. [ \M"[‘j
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W praders at Lincoln fupior High were suryeyed shout how they get home from school.

]  Male | Female | Total | 3, Mandy’s teacher asked her to make a true
| R Y - —= e statement about the two way table. She said
Walk , 44 16 66 ‘That boys and girls are equally likely to be car™
Tor e 0 e riders, Fxplain her crror(s) in reasoning.
Bus a6 | 12 | 27 ] ) homn,
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Tenal 1249 94 .
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‘D éf(/s are more /rzéé Jo be car pikes Hha,
b 5 (pemu)f of?l/b/#ugz/éa« co rilus.
The Final ACT Question to Complete Two-Way Frequency ‘1 f ((lcn ’7 1551, of &5“" arw ”"’['-’ °

Hiiryssbeahildron were sked to chooso which of three after school uctivities they would like their school to
offer, The resnlts are In (he 1wo way table below,
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Heleot ench of the following rtatements that Ia true,

) More boys were surveyed than girls, "{*ru.b
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D) Boye and givls are equatly mlltvno ¢hoose walching movicssb- et L S0
Falyt

¢) Aboul ﬂ%lrlsﬂﬂ‘wmﬂng. _M o Q'N.
fwe- 1l
d) Chirbiare wote. MIWIW wy |Kely to vliuuw mndiug us boys, ,,Lg__ Q __L - ]9 k .
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) Fewer (i halfthe students ehoxe compuater games Q‘\ , 8
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